Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - 111 « EXAMINATION — SUMMER 16

Subject Code: 3330605 Date: 24.05.2016
Subject Name: Surveying
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €2l SleURL Ulclatl welled WL 14
Distinguish between surveying and levelling.

Ul el dA&RL A dslad U §3.

Classify surveying according to instruments used for surveying.

Adatel 1R atuRaHl vadl @Ay Atusllal wuUR AdelRle]

ad(ls20L $2A.

Define : Ranging.

cALuAL AU ARWEL

Enlist the methods of plane table survey.
qrue ddatuell el atel oot
Explain local attraction.

2ULLs sl AHes AL

Define: Contour

CULUAL AL AHLRUL UL

State the principles of surveying.

y el Rtaidl wseudl.

Enlist different types of bearing.

Q@YU ysiRell ARatell el wotlal,
Enlist temporary adjustments of a plane table.
A URell gouHl dHNe{l aLEl slatlal
Enlist different types of level.

Q@AY ysiRell Addell A€l oletlal
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Q.2 Distinguish between chain survey and compass survey. 03

Ysl.? () Alsn adeael wal s Adeel aAell dslad U s 03

OR
(@) Explain with neat sketch diagonal scale. 03

@) W gl A [@Asel Bt wmeaAl 03

—~
QD
R

1/4



Q.3
sl 3

(b)
(W)

(b)

()

(©)
(8)

(©)

(8)

(d)
(S)

(d)
(S)

(a)
(W)

(a)

(1)

(b)
(W)

(b)

With neat sketch explain the process of taking perpendicular offset.
1209 gl WA dol sA2 Acllell I AU

OR
The magnetic bearing of a survey line is S28°30°E. Calculate the true
bearing if the declination is 7°30" West.

As Udallel Youlda ARl S28°30°E. %\ ([Auctst 7030 West &l
A AU ARl Ll 53

Differentiate between prismatic and surveyor compass.
QaARs srud wal Udats s1ud A6l dsleld U 53

OR
Calculate the included angles in the closed traverse conducted in
clockwise direction with following fore bearing of their respective lines.
Line F.B.

AB 40°
BC 70°
CD 210°
DA 280°

W USl (BAHL s AAA oltl HIARWEL ULl €R32Ulat
QA uulletl WAL (1A gallcaul Yool AalHl WA, Aall
Ul ot HIARWRLoll UidRS veuAle(l aldl 53

U WAL
AB 40°

BC 70°

CD 210°
DA 280°

With neat sketch explain indirect (reciprocal) ranging.
29 gl AU URBL(RURA) AUERUGL AHALA.

OR
Explain various uses of contour map.

ARVl ots2llell QAU GUoN UM

Explain different types of leveling staff.
QAu ystrell dQaRlEs @Y Ul

OR
Mention any three civil engineering works where profile leveling is
carried out.

sl YISIBA ARl sclHL Aldd sl ddl 518 ugl 2ol Rlda

o3| slaAl(AltsH) oll ol QU
Enlist various natural errors in levelling.

daael ddl @Au gedl 321l ALl wattal

OR
Calculate the correction for curvature and for refraction for a distance of
1200 metres.
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Draw neat sketch (cross-section) of dumpy level and label its parts.

SO0 Adctell a9 WSHLERUSDE) E1RL dUl Aetl oNell ollH
Al

OR
Enlist the instruments required for performing plane table survey. Mention
uses of each.

AHULR UTal sRal HIZ 3R Altlelloll 2UEl olotlcl. €35 Altotoall

Gualol .Ul
Explain:(1)backsight(2)foresight(3)change point(4)datum.
AL (L) UBLLAAS (R) MAUAAS (3)(E2W e (Aof (%)

ALURAA

OR
Explain different types of benchmarks.

QALY UslRell dcRosl (AN U

Explain temporary adjustment of dumpy level
SO0 Aade] eouHl AHRNst AHSA.

OR
Mention the types of error in plane table survey.

AU ddatel wddl @Ry 21 sl
Discuss advantages and disadvantages of plane table survey.
AUl UTelletl $lRLERA deal AR stAERA (@AY AU 53,

OR
What is orientation ? Explain orientation by backsighting.

ElseUlUot A2A 9 ? Usllalcdsatoll Rl gl ElseUlUet scllell

el Aol

The following consecutive readings in metres were observed on staff
stations successively with a level, the instrument was moved after 2" 4"
and 8" readings. The first reading was taken on a B.M. of
R.L.132.135m.Prepare a page of level-book. Calculate R.Ls. of staff
stations, apply checks. Use any method.
0.875,1.235,2.31,1.385,2.93,3.125,4.125,0.12,1.875,2.030,3.765

Aade{l Heedll [AA wRULAAL AL AHAASA ([A[AYU dA el 2Ll
UR .(leul AatHl A oflost, Ul Wl MEHL HUAA S ULE
Aclctoll Wlet 3R scUHL WA, YuUH A sel 132.943U H] il
dc@es UR AaHl wAd. A Ul dAeaw Wello] Ul dAR 53,
dAal 2ol Ge(l oLl 531, el Al slsuel Rl
Heel altddl s
0.875,1.235,2.31,1.385,2.93,3.125,4.125,0.12,1.875,2.030,3.765

Write a short note about uses of GPS
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UlRAY ol GUAN (AN solltd AU,
Explain various types of GPS receivers.

QALY usRell AU RRCR (AN Ul

With neat sketch explain chain used for linear measurement.
2269 gl WA YR 3R Hual Hzell Aisn (AR AHesAl,

State the necessity of taking location sketches of survey stations and
taking running measurements of building to be located on survey map.

Udell ReULotoll eUlet [Auiel Ugdl ElRclloll dal udetl atsall
U eallaeiml vdetk Hslolle{l silglloll AA HiUstoll %32 (3d)
AHestal.
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